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int 1stPlace = 1;
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(b) (3%) I'J ™ A=H Bk & =i~
char age = Console.ReadLine().ToCharArray()[O0];
switch (age)

{
case "’p": Console.WriteLine("?ﬁi@ﬁﬁﬁéﬂﬁ");
case "/+": Console.WriteLine(C"#PREfLF1H"™);
default: Console._WriteLine("&=IE E*"");

h

(c) (3%)

int 1 =1;

while( i <= 3)

{
Console._WriteLine( 1/(1-1) );
++1;

h

(d) (3%) )™ A FERGT 5 o D A
for( int 1=0; 1<3; ++i )
{

Console._WriteLine(

“{0} FUHEIH - BUBBHEEL, i+);
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(€) (3%) * IAH=A R el =
static void f1(int x)

{
Console._WriteLine(“f1({0})”, X);
static void f2(int x)
{
Console._WriteLine(“f2({0})”, X);
h
h
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5. %@'ﬁjé[l{‘k %ﬂJ%E?CEUﬁH'[ (5%)

using System;

namespace MidTerm2011Problem5

{
class Program
{
static void Main(string[] args)
{
int[] a={4, 5, 6 };
int[] b = a;
WhatDoesThisDo(a);
Console._WriteLine('a[2] = {0}, b[2] = {1}",
al[2], b[2]);
¥
static void WhatDoesThisDo(int[] x)
{
X = new int[4] { 8, 9, 0, 1 };
x[2] = 7;
¥
¥
¥

6. LI FFH O (10%)

using System;

namespace MidTerm2011Problem6

{
class Program
{
static void Main(string[] args)
{
string pattern = ''survey';
char[] p = pattern.ToCharArray();
string target = '"'surgery';

char[] t = target.ToCharArray();
int[,] ¢ = DP(p, t);
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int n = t.Length;
int m = p.Length;
int 1;
int j;
for (1 = 0; 1 <= m; ++1)
{
for J = 0; J <= n; ++j)
{
Console._Write(c[1, J] + "\t'");
bs

Console.WriteLine();

bs
¥
static int[,] DP(char[] p, char[] t©)
{

int m = p.Length;

int n = t.Length;

int[,] ¢ = new int[m+1l, n+1];

int 1;
int j
for (J = 0; J <= n; ++j)
{
c[0, j1 =0
bs
for (1 = 0; 1 <= m; ++1)
{
c[i, 0] =1
bs
for (1 = 1; 1 <= m; ++1)
{
for g = 1; J <= n; ++j)
{
cli, 31 = (pLi-11 == tj-1]) ?
cli -1, j-1] :
1+
Minimum(c[i - 1, 3], c[1, §J - 1],
cli -1, j - 1D:;
bs
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}

return c;

}

static int Minimum(int x, Int y, int z)
{
iIT (X <=y && X <= z) return x;
if (y <= x & y <= 2z) return y;
return z;

S ﬁf%m (11 5! 7311 (semantic words)§E! (¥ -
B il e e e S e
5FF7v 'stop words iz ’FJ“\ pudt > B 55 FFHI (e dxﬁlﬂ f#ﬁ r%?(feature)
[fij"stop words™ ¥ $X (R[S Y Fﬂr—“ﬁﬂﬁf{ PEUEE S Y (fa,” tan,”
“the”) ~ jIfF R (“and,” “or,” etc.) ~ ¢ &5 K & ﬁ’?’éjffﬁ(“it," “his,” etc.) ﬁ?ﬁj
(“above,” “about,” etc.) ~ &fizH(“may,” “can,” etc.) ~ 3@?’?;:{[(“however,’"’because,”
etc.) » E’jjgﬁﬁﬁﬁiﬁfj’g' % “is,” “have,” “do,” “make,” “use,” “give,” etc.) ~ By&H]
(“one,” “two,” etc.)=" - | %\[ES«IETP * Robert Frost ¥ f Jﬁ“ The Road Not Taken
ek - R

I shall be telling this with a sigh
Somewhere ages and ages hence:
Two roads diverged in a wood, and I--
I took the one less traveled by,

And that has made all the difference

El stop words ﬁu?ﬁ, | ~ shall ~ be - this ~ with ~ a ~ somewhere ~ hence ~ two ~ in
and -~ took ~ the ~ one ~ by - that ~ has ~ made - all - ?,”\ “}pY semantic words
E@(}Lﬁﬁ"}f[lﬂf@?ﬁ ELCIFLRE - telling (1) ~sigh (1) ~ages (2)~roads (1)~ diverged
(1) ~ wood (1) -~ less (1) -~ traveled (1) -~ difference (1) *[f} Fl
http://armandbrahaj.blog.al/2009/04/14/list-of-english-stop-words/¥[| £ — 4% ﬁ H]
fi*J stop words °

%F’i— (A= o iy 2 ) o (5 semantic: words - %ET% semantic word
“'FFWEW’ AN (UL Rl p iy R R 2 T?L’F “ﬁ T
B4 F. Scott Fitzgerald fiv £ The Great Gatsby (A7) {H) 57— %[ﬁ SEIRETRY
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<HE
FI CAWINDOW S\system32\cmd.exe X
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In my younger and more vulnerable yearsz my father gave me some
LTI X
dvice that I've been turning over in my mind ever since.
TN EX iy e
"lhenever you feel like criticizing any one." he told me. “just
g <t Sy
ememher_that all the people in this world haven’t had the advantages
By ) 285 1T

that you've had."

J:EUEEE%E@Semantic wnrdsﬁiﬂjﬁigﬁgﬁ

ve (2>

advice <12

turning (1>

mind (1>

over (1>

gqave (12

more <12

younger <12

vulnerable <13

father <13

years <12

world <12

people <12

haven <12

advantages <12

t (1>

remember (12>

feel (12>

whenever (1>

like (1>

told (1>

criticizing (1>
hd

ERIAILESHEER - - - -

T N L O

i o
static string[] InputArticle()
{
Console.Write("ﬁﬁ‘.qEWt ");
int nLines = int.Parse(Console.ReadLine());
string[] line = new string[nLines];
int iL;
for (iL = 0; 1L < nLines; ++ilL)
{
Console.WriteLine("Fﬁ‘E@{O}F?", iL+1);
line[iL] = Console.ReadLine();
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return line;

}

W—F¢@ﬁ%ﬂ\ﬁ@%ﬁﬂiWi’ﬁﬂwmmﬁi
static string[] ProcessLine(string line)

{

char[] separator =
Lm o, o, e,
2 N \ N 4
L R G M
B RS G A A
H#U, ST, kT, AT, T&T,

-y w -+- - - - - - -

I
l

-<-’ ->-’ -?-

3

string[] word = line.Split(separator);

/7 K2 [ f, I)fiE#fstop words
int iw;
for (1W = 0; IW < word.Length; ++i1W)
{

word[1W] = word[iW].ToLower();
¥

return word;

}

2 H 3"}&?\[ stop words FI[[fi’ # [9[I (5=
static bool IsAStopWord(string word)
{
// TERE, R EpIstop wordsdj®
string[] stopword =
{
"rL,tat,"able, "about', "across',
"after”,"all","almost","also","am",
“among',"an",and","any","are",
"as'","at",""be",""because',""been"’,
"but',"by",""can'," cannot'," could",
"dear","did","'do","'does","either",
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"else","ever","every",
"get','"gets", "got",
"have',""he","hence",
"him","his","how",
"1, tiIn,into",'is
"1ts',"just”,"least"’,
"likely","made", ""make",
"me","might","'most",
"neither',"no", "nor"
"off","often",
"or","other",
"said",""say","'says"’, ""'sha
"should","since","so",
"take',""taken','"takes",
"the'","theilr", " them",
"these", " they",""this",
"too",""took"™, '"twas'",
“"want"',"wants'','was",
"what",""'when","where",
"who"',"whom", "why"",
"would"™,"yet","you",

j

llourll

"t

"for",
"had"'
"her",
"however","i"
i,
"let",
"makes',
"must™,"
"not"
"on","one",
"own"',

"'some',
"than",
""then",

"two"'
"we',
"which",
“will",
"your"'

“"from',
"has",
"hers",

"lets",
"may*,
my"*
v of
"only",
"rather",

11", "she",
""'somewhere",
"that',
"there",

"o

Ilusll

isll’

"were',

"while",
"with",

bool result = ( Array. IndexOf(stopword, word) >= 0 );

return result;
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